Inequalities Review January 19, 2023

Today's Plan:

Learning Target (standard). | will solve combined inequalities. | will write
their solutions as sets and intervals. | will graph the solutions on a number
line.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, and take a quiz.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, and
provide quiz problems.

Assessment. Board work, homework check and quiz

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in quiz problems.

BELL RINGER

1) Find the product  -4W (w - 3).
“Yw2 + 19w

2)Evaluate -3x° —Zx +7when x =

Y- 5014 3 J+l= 9

Ly
3) Is the relahon{ 2,0, (3,9), (-2, 2) (-3, -1} a Function? Explain

your answer:

No
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1) 7+4x=43 0or3x—-2<-23

8 12

xz9orx<-7 {xlxs_7,x29}

(—0,-7]U[9,)

3) 9x—-6<-5lor5+4x<21

2

o

x>50rx<4

5) -54<5x-9<1

5 6 7 8 9 10
{x|x<4,x>5}
(—00,4] o (5,00)

L
12 10

9<x<2

7) -34<8+Tx<-27

oY)

{x]—9£x<2}

Solve each compound inequality and graph its solution.

2) -5—-4n=7and 9n - 5>-95

12 10 8 6 4 2
-10<n<=-3 {n|—10<nﬁ—3}
(~10,-3]

4) 9+3b<0and9b-7=-88

12 10 8 4

9<h<-3 {bﬁ|—9sbsz—3}
[-9,-3]

6) 6<9+3n<18

0

5 =4 =3 1'] o1 4 5 6
~lgn<3 {n|-1<n<3}

8) 7<-5x+7<27

10 & 3 4 2 o 2
4<xs0 {x|-4<x<0}
(_4a0]

9) S+rzland-3r-1>5

10

L@

—4<r<-2

11) 2n—-6<-220rd4n—-4<-36

12

13) 9%k-2<61 and Sk+7 > -13

12

n>8orn=-8 {n|ng—8,n>8}

(—o0,—8] U (8,0)

—4<k=<7

T -6 =5 —4 -3

15) -10b-2>78 or2b+22-12

10 1 23 45 6 78

14 12

-

2

pesorbz7  (p|h<-8,b>-T)
(—co,—8)U[—7,00)

10) -5x+3>53or-x-8<-16

12 8 4 4 8

0
x<-l0orx>8 {_x|x < —IO,x >8}

(—00,—-10) U (8,)

12) 65 <-10a -5 <85

10 8 6 4 2 0 2
w<az-7  {a|-9<a<-T}
(=9,-7]

14) 5-6x<-190rd-4x=8

5-4-3-2-10 1 2 3 4 5 6 7 8 9

x>dorxs-—1 {x|x$—1,x>4}

(—o0,—1]U (4,0)

16) —34 <d4m -6 <-22

2

10 8 6 4 2 o

—T<m<—4 {m|_7<m<_4}
(_7,_4)
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Solve. Write the solution as a set and interval.

3n—-1<-5 or 5<3n-1

(O 3nz-H “3n+52-|
n<-4 “In-{
n=2

EL Pt oh e LD
@ZV\\"‘ 3,”’22

O ('“0;‘3] U [2‘00>

Solve. Write the solution as a set and interval.

S5<1-2x<7
M) -l< -2x < (y @ZX '3£x‘3‘2
IS5 X 2-3

“34x<¢3

10 9 8 -7 6 54 3 2 -1 0 1 2 3 4 5 6 7 8 9 10

@ [3,3)
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Solve. Write the solution as a set and interval.

5-x<4 and  3y-2<7
O << <9
X> | X< 3R

C)th<x43§

®(1.3)
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